MTH 162 Homework 9

Do the first six problems. Due: Mar 26, 2014 (Wednesday). Hand in to me during the class.

Compulsory:

Ex 6.2
42-60 Evaluate the integral.
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[You may need the formula: cos® x= 5 (1+ cos 2x) ]

Ex 6.3

1-6 = Write out the form of the partial fraction decomposition of
the function (as in Example 6). Do not determine the numerical

values of the coefficients. 1 A B
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(You may have to do a long division first. You may also need: t*+1 = (t+1)(t*-t+1))
7-34 = Evaluate the integral.
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Recommended: (These types of questions may also appear in the exams)

Ex 6.3

1-6 = Write out the form of the partial fraction decomposition of
the function (as in Example 6). Do not determine the numerical
values of the coefficients.
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35-40 = Make a substitution to express the integrand as a
rational function and then evaluate the integral.
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